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7 skl chaly b e lis) Dlshal 48l dabs 4 L

S.A.= L.A.x 2nr? b
S.A.= LA +mr? .
S.A.= LA +2mr

o aall Lustadl Aaluall angl

L.A.=5x 13 mm? =

LA = 5x13% x rmm?

L.A. = 25 x 13 x 7 mm?

b
.

Noya hadias 34 sl (DU ) pddal ) daluss
S bl jgdiall ilaial 3 oslaad Jighl A5 Aildia s giial rhand Aabisa La

L] S.A.= 34 x 3 cm? L

——m =

r=

' S.A=34x32¢c

E) S.A.=34x3%cm? .
E S.A=34x3*cm?| 4
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The spinner and number cube Olssall Slac™) cumSag Hleall a8l andtiw

shown below are used in a game. Seall a8l (a8 en Jlaia) La Ldaml! ﬁ,.i.u.ﬁ
What is the probability of a player dauaa ade 6 o Jswaadl 2l (3,5Y) ade
spinning blue and then rolling a 67 $ cpamSal)

- =% .
Two number cubes are rolled. What S Jlaial Ledasi eSa A ja AT
is the probability that the sum of Lagale B8y cpdll cpasell £oana oSy

the numbers on the cubes is 127 12 o lalal

There are 4 oranges, 7 bananas, _,i ilalds 55 cljse 7 o aNEI L 4 ane
and 5 apples in a fruit basket. GZSIAN Cpa dalad aiata AN LAgSId Al
Mansour selects a piece of fruit at 2SN Cya daba® Sgana A1 A5 Lulsds
random and then Mahmoud selects SOe0) ea LEA) ATy o Jladal aa gl - Lileudie

a piece of fruit at randem. Find the

probability that two bananas are

chosen.

¥

]



find the sample space for picking a 3 A1 Oedae HLEAY el eladl) aa ol

number from 1 to 3 and choosing coasd) o saal) Hell Luals
red or white. LA W yaadU R aadiul

Use R for red and W for white.

The questions on a multiple—choice SLas) Al e oese plamial L2 e JSI
test each have 4 answer choices. Ladsad ciea ALl ),LoA) 4 saxlia e
Describe a model that you could Silay) Suedd Aani Slslacal Al s dlisay
use to simulate the outcome of Al 10 S fefe Slatia¥ daaal)

guessing the correct answers to a
Silye 10 daza 28] dakd o110
tossing a coin 10 times
Shye 4 Abama 283 Aalad s \E0)
tossing a coin 4 times
b

e 4 Apslitia allEl 10 AT Jlss @B el
spinning a spinner with 10 equal—-sized sections 4 times

Sia 10 Agsda bl 4 A2 Jiss e f s
: < spinning a spinner with 4 equal-sized sections 10 times .
Find the total number of outcomes ddana a8 dahad o ) pilis sae laa) aal
for tossing a coin and selecting one MATH" 4alS e aalg cia LSalg

letter from the word "MATH".

{--—..--“.-~~--v-sc..-o«-nv--.--..»---.--.-—----—---..-..’~'<.--s--.-"-o’v--.v-~. ]




Find P(8,3). P(8,3) xay

How many permutations are possible N Audgpal laiaad Julad axe S
for the letters in the word “FRIEND"

"FRIEND"?

/ﬁ:—:.‘:‘i:ﬂ:-ﬂ-}-::?-:-:z:-:l
o T T e 2l e

e I e = e > e = e < e

L =3

In how many ways can a president JCEy Gy ailis Gundy LLOBAN ey 485k A%y
and a vice president be randomly Thlth 20 408 _whys ciua (ra Slods
selected from a class of 20

students?

e

- 20 =< 19

e o 2 e b T e e 2 e i o i o e O S 0 o - o o Lt U ey

20 = 19 = 18



The table below =hows the results potls soUanol Falnd e dhy ._‘:,i__-.....‘a'i N gam

of a survey of seventh graders. B e S IV, - P |
Predict how many students cut of lls 200 al Cia slall sas as Las
Z00 will enter the Education field. ?,a.,,.’i-:.:\ | T £

17

~

s

e I T
- 11
8 @y | 8

- e =
g II

-

HHHL

A survey found that 80% of people el e %80 o) g3k ass
use emoticons on their instant Wslaal) gealm A LA 3 say)) Oy saadtioy
messengers. Predict how many of s 1,000 Jal fra LWl a8 Las L5, 640
the 1,000 students at a school use SAIRASN) 3 san]) O saddty La dpaa B

emoticons.

5

Hassan wants to predict the next Aallall Claa e Ly O LB Chea il
student council president. He polls il all; 18 --_;.L: soan il AT 1B _aslal)
every fourth person from each SLtAIEY) e agag A Ale o Cha (1S e
grade level as they exit the clgman a5 _‘,:..Tl i) ST EREREN

cafeteria. Identify the sample that

was collected.

;—'-.‘:l.lli_‘liﬁ'

convenience sample

s ol St Sos

valuntary response sample

systematic random sample



The double dot plot below shows sUal dmasall BalEill moaiall ALl sl glay

Fawzia's and Lamis’ number of o wals Ag3ed Lghiuad ol cle bl sac
hours worked in two weeks at their AN @bl o L oue sand 5358 A el
jobs. Which of the following b 3 T
Hours Worked Jead) Sole L
S .
e o o *
e © o o o ® WY
e Fowai SFL E LR X SN
L J
° .
L L : o o : e -
——t——————+—F+—+= Lamis i¥?i??7??l§u—4
3456 7 8 910N 1213 3 466 78 91WH%RSB

coule ganall 11 sobuw saall

The range is 11 for both sets of data.

O pazall "‘ Alida saad
:° The range is different for both sets of data.

<O pagadl B Al e B 5]
The median is not the same for both sets of data.

Ol panall 3 Vilalie Ay} 6
The distribution is symmetric for both sets of data.

Lamya surveyed a different group of e AALA L Ao sana o) gL £ sl Cuald

students in her Science and Math O Dbl ylls aslall dua A ol
classes. The double box plot below alal Zeasall Sdaslall o3 (3osliall hbhaa
shows the results for both classes. ) sl Con 5B L Shal) SIS Esind
Compare their Interquartile Range. - Syl
mg:’m;smu::n:: € pgid) |.'ugzs,a.. s B g0 pS

Math Class 4 ¢} —aa b Nie —f § 00—
Science Class 15— potalt hue I e

1S5 tagiall s 5 bl ) s

Math class: 5, Science class: 15

. 10:aeial hw (15 oLyl Cha
° Math class: 15, Science class: 10

15 fasiadl e .15 talusL) dha
Math class: 10, Science class: 15

25 asald cia .20 taluoald o
Math class: 20. Science class: 25




Which of the following charts is

6 Jiae 0¥ i) edtiad

misleading?
Profits L
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The spinner and number cube Olisall MNacH) cunSag Hlgal) e Al addeas

shown below are used Iin a game. lgall Leadl) cad gl Jlaba) La Ldasd Pt olaal
What is the probability of a player Aasas aie 4 e Jsmall of saal) e
spinning red and then rolling a 47 T ansall

Two number cubes are rolled. What Of Jladal e Sae] e Aajas a3
is the probability that the sum of Laguic ARy il Sydondl Eaana O3S
the numbers on the cubes Is 11 7 T 11 s Slagal

Al satadl Sloadl

43 =

There are 4 oranges, 6 bananas, @ Saldl 7 9 Shga 6 9 SWEIL 4 A
and 7 apples in a fruit basket. Agslall e dxlad  geaia lOA) L AgSLE ALl
Mansour selects a piece of fruit at AgsSlall i Anlad sgasa UA) Al Lu)gdie
random and then Mahmoud selects oadalan Glabal) Aoy O Jlaia) aagl L lLdigdie

a piece of fruit at random. Find the
probability that two apples are
chosen.

7 6
@ 17 * 16




Find the sample space for picking a 4 11 1 (e 33 s all sladll sayl

number from 1 to 4 and choosing el ¢ aa ol jaly
yellow or white. coat Wy Jiall Y asddud
Use Y for yellow and W for white.
Of 1Y 1W 2Y 2W 3Y 3W 4Y 4W ~_
fr -‘

I _ 1Y 1W 2Y 2W 3Y I
1W 2Y 3W 4Y

€

I _ 1234 YW I

d

Hassan wants to predict the next Adlall s ey Lily O B G
student council president. He polls e 50 (g, g3uly N 4B a0l
50 person randomly as they exit aas L) G agag A S e S5
the cafeteria. Identify the sample gran 45 A0 Ll g0
that was collected.

A Aiilpls dis “
Simple random sample

AR T e s P R S S A SN S AN SR ﬂa.‘."&;‘uﬁ:“d

gl el s

Voluntary response sample

i “.. z 3! ;= i.'ﬁ

Systematic random sample o

How many permutations are possible s A Gigoall dladaall Joslall sie as
for the letters in the word "STUDY"? “'STUDY"

Sx4x3x2x1

I— Sx4x3 l
Sx5x5%x5%x5
3
5
]




Find P(7.4). CP(7,4) syl

byl fraslad] clmsaall |

4333 o

7T x4

Tx6x5x4x3
«
Txb6x5x4x3x2x1
l:IIIIIIIIIIIIIIIIIIIIIIIIII |A

Find the total number of outcomes Ao o dakd ol @l 26 Slaa) o

for tossing a coin and selecting one SDUBAL G4l (s sa)y a3y
letter from the word "DUBAI".
678 o

In how many ways can a president A8 iy Guily Cuads OLEA) OSay Al a0
and a vice president be randomly Tlila 30 4d ) Cha Oa Hlsde
selected from a class of 30

students?




SO g0 il gdas (38sall Jgaad)

P 17 .La ;..\.HJM ‘.'5 &Luln il

Al 14 @&Zﬂﬂd‘aigagﬂh!imgfﬁs
u,.hl 11
C3on Tadey) Jlas Oelang

_—I
OO - |
Mcmccemesmenent

2 68

d
A survey found that 70% of people ala i e 70% O &SUanu) aag
use emoticons on their instant Aolaal) gealis B AudlediV) 5 gasll O gandion
messengers. Predict how many of s 1, 000 Jal e Wila as Las L4 580
the 1, 000 students at a school use SAMRAYY 5 ganl)l O gesdiioy La Aisaa B

emoticons.

_—I

700

_ =

b

The questions on a multiple—-choice DlaA) Al cra O eSa Oladial o Noaw I
test each have 3 answer choices. ladgal oo Auladl Claa) 3 sasdla e
Describe a model that you could CLilaY) Cpeadd Aol SlSlacal Aalassi) GliSay
use to simulate the outcome of ALY B8 e O 9Sa Oladay dajasall

guessing the correct answers to a
8—-question test.

Silpa B Auglda aludl 3 Al lg3 B i
Spinning a spinner with 3 equal-sized sections 8 times

e 3 Aoglda aldl 8 A1 s Gad en
Spinning a spinner with 8 equal-sized sections 3 times

Silpa B Alana 2B Aadad LAY
Tossing a coin 8 times

e 3 aea AU Aaked oWl
Tossing a coin 3 times




The double dot plot below shows
Fawzia's and Lamis' number of
hours worked in two weeks at their
Jobs. Which of the following
statements is correct?

Hours Worked
=2
<
* e o
* © o o o
—t—F—F—F+—F+—F+—+—+—+—+—= Fawazia
<
-
= -
- e & o o o
—t——t— 4 Lamis
3 4 5 6 7 8 9 0 NN 12 13

olial dxasal) AL zgasal) Sbadl sl sglay
@B umaly A5 eh lghiad LA Gile ) sas
AV @hlal) (gl L oue gandd 558 JNA Jaad)

Taaaa
Gt Slelw
°
-
@ S s
e o o o e
—t—F—F—+—F—F+—+—F+—F—1+= as>
e
-
B -
e e o o o o
— 1+ et
3 4 5 6 7 8 9 W0 N 121

e panall B Jilada b gl
The distribution is not symmetric for both sets of data.

i gaaall (B A ] S 1)
The median is not the same for both sets of data.

SO ganall 6 S3lew saall
The range Is 6 for both sets of data.

° o gaaall B il (gal
The range is different for both sets of data.

Lamya surveyed a different group of

students in her Science and Math

classes. The double box plot below

shows the results for both classes.

Compare their Median.

How Many Times Have You
Posted A Blog This Month?

MathClass ~—+ §  }——r
Sclence Class ——————f § +—

I L i 1 i
T T T T

o 5 10 15 20 25 30

)

Cra Adlida A gana (gf) £OUILL slial Culd
Ot - claalilly aglall i A D)
oLial gaiall Guadaslad) (63 (3 gaial) Jakaia
cOntall lacgl) G OB L Onal) DS il

) 1ia § Dy Dl 5 S

20 tpglall he 110 tClual) (e
Math glau:l_o , Science chss 2Q

10:p50l) hos 20:Silpslill oo
Math class:20, Science class:10

15 :pgiall cha o5 :Chuali)) Lha

Math class:5, Science class: 15

25 gl e (20 ohal)ll e
Math class: 20, Science class: 25




Which of the following charts is T lias AV dalad) cdiiant) gi

misleading?
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